

1) $\log_n^m = a, \log_{mn}^{m^r n} = b$ (17, 25) 5

ا) $[b] = 1 \rightarrow \frac{\log_n^{m^r n}}{\log_{mn}^{m^r n}} = b = \frac{\log_n^{m^r+1}}{\log_n^{m+1}}$ (11, 10)

$\frac{r(a+1)-1}{a+1} = r - \frac{1}{a+1}$

$\int L, 1 < r - \frac{1}{a+1} < r$

$[b] = 1$

2) الف) $y = \sqrt{\frac{x}{\log_{\frac{1}{r}} x}}$ $\log_{\frac{1}{r}} x \neq 1 \rightarrow x \neq 1$

$\log_{\frac{1}{r}} x = -r \rightarrow \boxed{D_f = (-\infty, -1) \cup (1, +\infty)}$

ب) $\frac{\log_{\frac{1}{r}}(x^r - x - r)}{\sqrt{x^r - 1} + 1}$ $\rightarrow D_f = (-\infty, -1) \cup (1, +\infty)$

$(x-r)(x+1) > 0$

$\frac{-1}{+1} \frac{r}{-1} \rightarrow x^r - 1 \geq 0 \rightarrow x^r \geq 1 \rightarrow x \geq 1 \cup x \leq -1 \rightarrow$

3) $r \log_n^a + \log_a^{\sqrt{x}} = r$ $m + \frac{1}{m} = \frac{m^r + 1}{m} = r \rightarrow m^r - rm + 1 = 0$

$n = a, a = 1$ (9) $(m-1)^r \rightarrow m-1 = \log_a^a$

$r \log_{a^r}^a + \log_a^r = r \rightarrow \log_{\frac{a}{r}}^a + \log_a^r = r$ (1)

4) $\log r \approx 0,1$ $\log c \approx 0,2$

$(\log_{\frac{1}{c}}^{\frac{1}{c}}) x^r + (\log 9) x - \log 18 = 0$ (1)

$\log_{\frac{1}{c}}^{\frac{1}{c}} = \log \delta - \log r = \log 1 - \log r - \log \frac{1}{c} = 0,1$

$\log 9 = r \log c = 0,1$

$\log 18 = \log \delta + \log c = \log 1 - \log r + \log c = 0,1$ الهدف =

$0,1 c x^r - 0,1 x - 1 = 0 \rightarrow c x^r - x - 1 = 0$

$\rightarrow \sqrt{x^r + 1} x - c x = 0 \rightarrow 1, -\frac{1}{c}$

$$\omega) \log_r^v = r, 1$$

$$\log_{1/2}^1 = 1$$

$$\log_{\delta}^r = 1, \delta$$

$$\log_r^{\delta} = r$$

$$\log_{1/2}^1 =$$

$$\log_{1/2}^1 = \frac{\log_r^1}{\log_r^{1/2}} = \frac{\log_r^{\delta} + \log_r^r}{\log_r^r + \log_r^r} = \frac{r}{r+1}$$

$$4) \log_c^{\delta} = 1, \delta$$

$$\log_r^r = 1, r$$

$$\frac{1}{14} + \frac{14}{14} = \frac{r}{r+14}$$

$$\log_{1/2}^r = 1$$

$$\log_r^{\delta} = 1$$

$$\frac{\log_c^r}{\log_c^{\delta}} = \frac{\log_r^r + 1}{\log_r^{\delta} + 1} \rightarrow \log_r^r = 14 \rightarrow \frac{1}{\log_c^r} = \frac{14}{1}$$

$$v) \log_{1/2}^m = m \quad \log_{\varepsilon}^r = \frac{1}{r} \log_r^r = \frac{1}{r} (\log_r^{\varepsilon} + \log_r^r)$$

$$\log_{1/2}^m = \frac{1}{\varepsilon} (\log_r^r + r \log_r^{\varepsilon}) \rightarrow \frac{1}{\varepsilon} (1 - r \log_r^{\varepsilon}) \rightarrow m = 1 + \log_r^{\varepsilon} = m$$

$$\frac{1}{\varepsilon} = (r + \varepsilon m - 1) \Rightarrow \frac{1 + \varepsilon m}{\varepsilon} \quad \log_r^{\varepsilon} = \frac{\varepsilon m - 1}{r}$$

$$\wedge) (\cdot/\varepsilon)^{r\alpha-1} = (\frac{1r\delta}{\lambda})^{r\alpha} \quad (\frac{\varepsilon}{1})^{r\alpha-1} = (\frac{\delta}{r})^{r\alpha} \rightarrow \frac{r^{r\alpha-1}}{\delta^{r\alpha-1}} = \frac{\delta^{r\alpha}}{r^{r\alpha}} \rightarrow r^{r\alpha+r\alpha-1} = \delta$$

$$\log_{\lambda}^{(4\alpha+1)}$$

$$r\alpha+r\alpha-1 = \dots \rightarrow m+r\alpha-1 = \dots \rightarrow \alpha = \frac{1}{r}, \alpha = -\frac{1}{r\alpha\varepsilon}$$

$$\log_{\lambda}^{4\alpha+1} = \log_{\lambda}^{\varepsilon} = \frac{r}{\varepsilon}$$

$$a) \log_{\lambda}^b = \frac{r}{\varepsilon} (1+a), \quad \log_r^r = a \quad \log_{\lambda} (c \times c^r - 1) = r$$

$$\log (c^b - 1) = 1 \quad \frac{1}{\varepsilon} \log_r^b = \frac{r}{\varepsilon} (1+a) \rightarrow \log_r^b = r \log_r^a \rightarrow b = c^r$$

$$1.) -\varepsilon a n^r + b n + \frac{1}{r} c = 0 \quad s = \frac{b}{\varepsilon a} \rightarrow \frac{1}{s} = \frac{r a}{b}, \quad r a = \frac{b+c}{r} \rightarrow r a = b+c \rightarrow$$

$$\frac{b+c}{a} = r$$

$$\left(\frac{1}{\sqrt{r}}\right)^{\frac{r}{a}} \quad r \log r = \frac{r a}{b} \rightarrow \log_r^1 = \frac{r a}{b} \rightarrow \frac{1}{r} \times \frac{1}{\log_r^1} = \frac{a}{b}$$

$$r \log_r^1 = \frac{b}{a}, \quad \frac{r}{a} = r - r \log_r^1 = -r \log_r^{\delta} = \frac{r}{a} = r - \log_r^1$$

$$\left[\frac{1}{\sqrt{r}}\right]^{\frac{r}{a}} = r - \frac{1}{a} \times r \log_r^{\delta} = r \log_r^{\delta} = \frac{1}{\sqrt{a}}$$

(ب)

$$\sqrt{x^r - 1} \rightarrow (-\infty, -1] \cup [1, +\infty) \quad (D)$$

$$\lg_{\frac{r}{\mu}} x^{\frac{r}{\mu} - x - r} \rightarrow x^{\frac{r}{\mu} - x - r} > 0 \rightarrow (-\infty, -1) \cup (r, +\infty) \quad (E)$$

$$(D) \cap (E) \rightarrow (-\infty, -1) \cup (r, +\infty)$$

$$\lg^{\omega} = \frac{1}{4}, \quad \lg^{\eta} = \frac{1}{4}, \quad \lg^{1\omega} = 1, \quad \lg^{\frac{\omega}{r}} = \frac{1}{r} \quad (K)$$

$$\rightarrow \frac{1}{r} x^{\frac{r}{\mu}} + \frac{1}{4} x - 1, 1 \rightarrow \begin{cases} x_1 = 1 \\ x_r = \frac{-1/4}{1/r} \end{cases} \rightarrow x_1 - x_r = \frac{1}{r}$$

$$\frac{\lg_{\frac{r}{\mu}}^4}{\lg_{\frac{r}{\mu}}^{\omega}} = \frac{\lg_{\frac{r}{\mu}}^r + \lg_{\frac{r}{\mu}}^{\mu}}{\lg_{\frac{r}{\mu}}^{\omega} + \lg_{\frac{r}{\mu}}^{\mu}} = \frac{\frac{1}{4} + 1}{1, \omega + 1} = \frac{1/r}{r_0} = \frac{1}{4\omega} \quad (L)$$

$$\frac{\lg^{1\eta}}{\lg^{\eta}} \Rightarrow \frac{\lg^{\mu}}{\lg^r} = \frac{r_{\omega} - 1}{r} \quad \lg_{\frac{r}{\mu}}^{1\eta} = 1 + \cancel{\lg_{\frac{r}{\mu}}^{\mu}} \xrightarrow{\frac{\lg^{\mu}}{r \lg^r}} = 1 + \frac{1}{r} \left(\frac{r_{\omega} - 1}{r} \right) = \frac{r_{\omega} + \mu}{r} \quad (V)$$